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Instructions to the Examinee : gt 3 R B

1.

Do not open the booklet unless you are
asked to do so.

The booklet contains 100 questions.
Examinee is required to answer any 80
questions in the OMR Answer-Sheet
provided and not in the question booklet.
All questions carry equal marks.

Examine the Booklet and the OMR
Answer-Sheet very carefully before you
proceed. Faulty question booklet due to
missing or duplicate pages/questions or
having any other discrepancy should be
immediately replaced.

(Remaining instructions on last page)
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"Money is a standard for deferred 1.
payments.” This function of money comes

in the category of : N
(AY  Primary function

(B)  Secondary function

(C)  Contingent function

0)  Other functions

Into how many categories have the 2.
definitions of money been categorised
according to economists ?

A 3
B 2
€ 5
O 4

Which of these is a primary function of 3.

money ?

(A) Distribution of money
(B)  Transfer of value

(C)  Medium of exchange

D Store of value

"Money is the pivot ground which the whole 4.
economic science clusters ?* It is the quote
of :
(A)  Prof. Marshall
(8)  Lenin
(C)  Prof. Pigou
D)  JK Mehta
UG(2) MFS (Sub/Gen.)/12000 (3)
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5. Which of these can be an economic evil of 5.

money ?
(A) Class struggle
(B) Trade cycle

(C)  Encouragement to |oan tendency
(D) All of these

6. Who said, "If money is not the heart ofour 6.

ecenomic system it can certainly be
considered its blood stream" 7

(A) Trescott
(B)  Lenin
(C) Hom
©) Crowther
7. Money in which books of accounts are kept 7.

in a country is called :

(A) Money of account

(B) Representative money
(C) Standard money

©) Metallic money

8. How many types of legal tender money 7 8.
Ay 2
| 3
€ 4
(D)

9. According to Prof. Crowther, the stages of 9.

paper money are .

& 2
B 4
© 5
Oy 6

UG(2) MFS (Sub/Gen.)/12000 (4)
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e e B, e FE

0. "Money is what money does 7" Whosaid 7 10.
(A)  Crowther Ay BRUT
(B) Robertson ®) TFET
€  Walker Cp—
D) | Marshall ©) el R el
11 Direct exchange of goods against goods is 1. I % R = A
called : ST ¥
(A)  Charter W AR
(B) Money (8) a1
€)  Barter ey oy fateE
©)  None of these O T Y FE T
12. What is general acceptability ? 12. T BRI T BT
(A)  BankDrat (A % g
(B) Money B) g
(C)  Bill of Exchange G v @ &
(D) None of these D) & 9 Eﬁi—f SE
13. Which type of deposit gives highest rate of  13. fpe yr @ o URRT 99 SN
interest ? ot Sl E 7
(A)  Current deposit (A) Fie RaRe
(B)  Fixed deposit By R s
(C) Recurring deposit ©) QT e
(D) None of these ) g:rai q zﬁrg EEl
14, Which bank deals with short term credit 2 14, FF-91 36 STIHMT hoT Y w2 ?
(A)  Agricultural Bank (A) ﬁfa 36
(B} Commercial Bank (B) qofas e
(C)  Industrial Bank © s T
(D) None of these (D) = 9 q;ﬁ—é 5
UG(2) MFS (Sub/Gen.)/ 12000 (5)
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16.

16.

17.

18.

19.

UG(2) MFS (Sub/Gen.)/12000

Which of the following is not the function of
Commercial Banks ?

(A} Issue of paper nojes

(B) Acceptance of deposits
(C)  Advancing loans

(O)  Credit controi

Which of the following is not near money ?
(A) Paper notes

(B)  Treasury bill

(C) Bond

(©)  Bill of exchange

Which bank is called lender of |ast
resort ?

(A) Commercial Bank
(B)  Agricultural Bank
(€) Industrial Bank
0)  Central Bank

In which year the Reserve Bank of India was
established ?

(A) 1945

(B) 1947

(C) 1935

D) 1953

Which bank enjoys monopoly power of note
issue ?

(A) NABARD

(B) Commercial Bank
(C) Central Bank
(D) None of these

(6)

16.

17.
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W oid 3% 9 o B af &
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A) 1945
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G- 195
1953
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20. For which function, money is accepted as

unit of account 7

(A)  Measure of value

(B)  Medium of exchangé

(C)  Standard of deferred payment
(D)  Store of value

21, Which among the following is considered
to be the most liquid assets ?

(A)  Gold
(B) Money
() Land

(D)  Treasury bonds

22. Who had classified money on the basis of

nature ?

(A)  Prof. Crowther

(B) Prof. Seligman

(C) Prof. Marshall

D)  Prof. Keynes
23, Indian rupee is :

(A)  Token money

()  Standard money

(C)  Standard token money

(9)] None of the above
24, Currency includes :

{A) Paper money

(8)  Coins

(C) Paper money + coins

) Foreign money

UG(2) MFS (Sub/Gen.)/ 12000

(7)
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25. M, measurement includes : 25.  M,A i qnfiet & ®

(A)  c+DD (Ay  C+DD

(B) C+0D (8) Cc+0D

(C)  C+DD+0D (€) C+DD+0D

D) None of these I ¥ q e T
2. (@/

According to Gurley angd Show approach 26, 1];':’( T M D E’W A o2l ‘iﬁ )l 1y
g

measurement of supply of money is :

(A)  Narrow {A) H@'ﬁ:’lﬁ
(B) Very narrow (B) Al Hﬁﬁ‘-ﬁ
©  Broad © @&
O)  Very broad _/,(g) A e
27. Components of High Power Money are : 2. I3 O gE & Ees §
(A)  C+RRER ()  C+RReER
(B)  C+RR-ER B)  C+RR-ER
€  C-RRER ©  C-RR:ER
D)  None of these /-fD)" I & A B

28. Who told, "Bad money drives good money  28.
out of circulation” ?

WW%—“@@WW#
T H SR AT 30 B

(A} Gresham (mf Y9y
(B)  Marshal ® W W
€  Thomas © 9%
©)  Crowther O) R
29, The base year should be - 28, MR 9 @ afu -
(A} Normal year — B e ot
(B)  Abnormal year B @ o
(C)  Any year € @R @
(0)  Election year 0 T

UG(2) MFS (Sub/Gen.)/1 2000 (8)
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30.

31.

32.

33

UG(2) MFS (Sub/Gen.)/ 12000

Difficulties in the preparation of the Index
number is :

(A) Lack of time

(B) Lack of money

(©)  Lack of appropriate person
(D)  Selection of the base year
The Index number is :

(A) Politicai tool

(B) Mathematical tool

(C)  Social tool

(D)  None of these

MX +M'V!
Who gave the equation P = T ?
(A) Fisher
(B) Marshall
€  Pigou

D) Crowther

Value of money refers to :

(A)  The interest rate of money

(B) The superficial price level of money
(C) General purchasing power of money
0)  All of the above

What has been taken as an example by
Pigou in the analysis of his equation ?

{A) Rice

(B)  Wheat
(C) Maize
(D) Paddy

(9)

0. Peris & fymfor FETE
-3

B wmH

B) =

€) 3 afE & B

0) MRy & T
3. s B s
A T 4=

B) i A

C) OmRE I

0) T & | B T
32, PZMWWW?
B TR
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© Y

O W
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35. Inflation Mmakes the distribution of 35,
wealth :
(A Equal
(B) Unequal
€ Stable
©)  Unaffecteq
36. Who is profiteq by inflation, - 36,
A} Consumers
(B) Investors
(C) Producers
) Labourers
37. The first phase of Inflation s - 37,
(A) Creeping Inflation
(B) Walking Infiation
(C) Running Inflation
(D) Galloping or Hyper Inflation
38. The objective of finance is - 38.
(A) To maximise the profit
(B) For the operation of husiness
(C) To maximise the assels
() Both (A) and (B)
39, Supply side of finance includes 39.
(A) Family
(B) Commercial Bank
(€) Bank
(D) Al of the above
UG(2) MFS (Sub/Gen.)/12000 (10)
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40.

41.

42.

43.

44,

UG(2) MFS (Sub/Gen.)/12000

Which one is the Instrument of Capital

Market 7

(A) Deposit Certificate

(B} Commercial Bl

(C)  Treasury Bil

(0)  Government Bonds
Commercial paper is the instrument of :
(A)  Money market

(B)  Capital market

(C)  Produce exchange

D) None of these

To second securities financial
intermediaries :
(A) Sell cut

(B) Purchase
(C) Collect
(D) All of the above

Banking financial intermediaries who play
the role of Intermediaries :

(A) Commercial Bank
(B) Co-operatative Bank
(€) Regional Rural Bank
D) All of the above
Money market deals in ;

(A) Short-term fund

(B) Long-term fund

©) Medium-term fund

D) None of these

40.

41.

42

43.

1)

AR gt " il
¥

(A) SHI JHETIA

@)  afifes &

€ ol R

0}  wH sEE
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(&) I TSI B
| T g B
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Rrefta qemen Tadias  giasfaat

&

A T E

® El E
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45

46.

47.

48.

49.

50.

UG(2) MI'S (Sub/Gen.)/ 12000

Instruments of Money Markets includes
(A) Treasury bill

(B)  Commercial paper

€©)  Certificate of deposit

©) Al of the above

The maximum period of Treasury Bill is :
(A) 14 days

(B) 91 days

€ 182 days

D) 364 days

The market of new issue is called -

(A)  Primary market

(B) Stock exchange

(C) Produce exchange

D) All of the above

Maximum period of commercial paper s :
(A) 3 months

(B) 6 months

C) 12 months

D) 36 months

The holders of share are ......... of the
company.

(A) Owner

(B) Creditor

(C)  Debior

(D) None of these

The holders of debentures in the
return get :

(A) Dividend

(B} Interest

(C) Dividend and Interest

(D) None of these

(1

45,

46.

47,

49,

50.

() @ e
(B) giftfcas o=
g
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A 1R
® 9
© 182RF
Oy 3e4fEE
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51

52.

53.

65.

UG(2) MFS (Sub/Gen.) 12000

How many banks were Nationalised in

19697
(&) 6

| 14
© 19
o 2

Building of a bank is

(A)  Profitable Investment
(B)  Dead stock

(C)  An expenses

(9)] None of these

BIS was founded in :
(A) 1930
B) 1934
C) 1949
0) 1989

Full form of PIN is :

(A) Personal Index Number

(B) Personal Internal Number

(C) Personal Identification Number
(D) Personal Instruction Number

What is the minimum amount that can be
sent through RTGS ?

(A)  Rs. 50,000

(8)  Rs.2,00,000
©  Rs.1,00,000
@)  Rs.5,00,000

51 W9 1969 ¥ Reqy Yt A1 TEDT
foar mar oy ?
A 6
_B14
—
€ 19
o 2
52.  SBf & WA § :
(A e RfFEE

5 R
/Qéﬁam

83.

/M’

95.

(O) I9dad & § Big el

BIS &l TG &% :
1930 #
(B)  1934%
©  1949%
O) 1969
PIN T T B 2
B T R T
(B) UHTW T TR
e ad A T
0 v FEREE TR
RTGS & =g feherit Ui Aokt o el
g7

(A %.50,000 (T &R)

_—B—76.2,00,000 (3 Tr)

€ %.1,00,000 (wh )
©  %.500000 (V= )

(PT.0))
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56

57.

98.

60.

How many letters and digits are there  56.

in IFSC ?
A 7
B 10

ey
0 19

Credit cards are alsg Called :
(A) Plastic money

B)  Metal money

(C) Paper money

(D) None of the aboye

How many digits are there is PIN 2

What is the minimum amount that can be 59,

sent through NEFT ?

(A)  Rs.1lakh
(B)  Rs.2lakh
(€ Rs. 5 lakh
D) Nolimit

Which credit instrument contains a 60,

conditions free instruction ?
{A) Cheque

(B) Bill of exchange
(C) Promissory Note

(D) Hundi

UG(2) MES (Sub/Gen.)/ 12000

o7

58.

(14)

Bpey or&l o ofdl & IFSC Ty
B & ?

A 7
B 10
—Aer 1
o 19
Pee FE H 7@ F Fa AP
(®  wReH
| g I
€ ™ J
0) TS § ¥ FK T
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A 3
B 4
€ 5
By 6
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A 1TE TR
B 279 W@
€ 59 TR
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€ gidsw v &
0 e
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61.  Which of the credit instruments is written by 81
the drawee ?
(A) Bill of Exchange
(B) Promissory Note
{C)  Hundi
(D)  BankDraft
62.  Reserve Bank of India was established in: g2
(B 1947
B) 1935
(©) 1937
D) 1945
3. Which is the Central Bank in India ? 63.
(A) Reserve Bank of India
(B) State Bank of India
(o} Central Bank of India
©)  Bank of india
64. Credit money is increased when CRR : 64.
(A)  falls
B) rises
C) Both (A) and (B) are possible
D)  None of the above
69. Which is not the function of the Central 5.
Bank ?
(A) Issue of currency
(B) Controller of credit
(C) Profit making
(D)  Banker to Government
UG(2) MFS (Sub/Gen.)/12000 (15)

g fo 0
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g7
W R
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68. Which is
Bank ?

(A) Deals with General Public

(B) Aims of Profit Making

(&) Credit Creation

(D) All of these

67. Life Insurance Corporation is not a bank as 67
it
(A) does not accept chequﬁable
deposits
(B) does not give loan
(C) does not deal with public
(D) does not create credit
68.

(A) Bank rate

(B) Open market operations

(C) CRR

(D) All of the above

69. The rate at which the Central Bank lends 69,

Central Bank controls credit through

the characteristic of a Commercial 66,

68.

money to Commercial Banks as a lender of

last resort is known as

(A) Repo rate

(B) Reserve Repo rate

(C) Bank rate

(D) Prime lending rate

UG(2) MFS (Sub/Gen.)/ 12000

(16 )

27

(A) O I B A FaER

(B) @9 I H IR

(C) @ & oy

O IEw a

WA @A E um ¥ qy

g i 48 :

® = ST T EER TG e
T

B)  FT T ¥} B

© o™ AN ¥ FgER T e B

o
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.31,

I T
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71.

2.

73,

74.

UG(2) MFS (Sub/Gen.)/12000

Which of the following changes by the Central
Bank will increase the money Supply ?

(A) Increase in repo rate

(B) Increase in CRR

(C) Purchase of government securities

in the open market

(D) Sale of government securities in the
open market

Commercial Banks :

(A) Issue Commercial notes

(B) Accept deposits from customers

(C) Provide loans to customers

D) Only (B) and (C)

Reserve Bank of India was established in

which year ?
(A) 1947
(B) 1951
(C) 1935
(D) 1955

Which of the following is qualitative method
of credit control ?

(A) Variation in cash reserve ratio

(B) Retriction on consumer credit

(&) Open market operation

(D) Variation in bank rate

Banking Companies Act was implemented in :
(A) March 1934

(B) March 1949

(C)  March 1954

D) March 1959

o

70. %aﬂ'qﬁzﬁﬁﬂﬁaw

g o A AT
(A) ﬁﬂﬁﬁ
) CRR¥ IR cxsgferl
© g A

o
7. oIS ¥F
(A) W%Wﬁﬁ%
B we & o e T
) mﬁﬁmwm%
0) @& (B) T (C)
72, o R S o e w98 H

F9 .
D) gﬁwﬁﬂﬁwﬂ
EEZ]

g7
A 1947
B) 1951
o 193
(D) 1955

73, = A & B o FREer @ e
R ® 7 |
(A) TR R sTuE ¥ aRada

B) TSI A T Gl
© Ed IER # A
0) & & § aRady

74 9T N O A T -
(A A 1934

B HRE 1040 §

© A= 1954 ¥
O)  #Ar 1959

C17) [P.T.O_]
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75. According to Section 12, the subscribed

capital should be
capital.

(A) Minimum 50%
(B) Minimum 25%
(C) Minimum 20%
(D) None of these

78. How many RRBIs were set up on October  76.

2nd, 1975 7
A) 5
B 6
© 7
O 10

77, Who controls the RRBI since July, 1982 ? 7.

(A) Reserve Bank of India

~

........ of its authorised

(B) The Finance Ministry of the

Government of India
(C) NABARD
(D) Sponsored Bank

78. By whom are Kisan Credit Cards 78,

issued ?
(A} Regional Rural Bank
(B) Co-operative Bank
(€ Commercial Bank
D) All of the above

78. A Regional Rural Bank is a ;
(A) Scheduled Bank
(B) Non-Scheduled Bank
(C) Private Bank

(D) None of these

UG(2) MFS (Sub/Gen.)/12000

79.

(18 )

5.

mmﬁﬁgﬁﬁﬁﬂ ........
g e

A :efrﬁ‘r{SO%

(B) g\:ﬁﬂ?ﬁ%

© I 20%
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80.

81.

82.

83.

84.

Where was Co-operative Bank bom ?

(A)  Germany O

(B) France ®) P |

(C)  Britain © et &

(D)  None of these ® T R T

When was Co-operative Bank born in 81,  9Ra ¥ Wewrdt ¥% & w=1 & gon
India ? W

P A) 1901 F

B 1004 By 1904 ¥

©  1o12 © 1912 %F

0 1021 O 1921 &

The Management of Co-operative Bankis :  82. &I 3% & 9ay arr & -
(A)  Democratic A) WIS

(B)  Based on the world organisation B [\ FreT w amfg
(©)  Unitary C uw

(D)  None of these 0 W I L &
Sources of the capital of Land Development  83.  #[f1 fymig &' i+t & ata
Bank is : g:

(&) Share capital (A)  sfwr G

(B)  Bonds B W

(C)  Reserve Fund € gha o

O Al of these 0 Ao

Which one is the bank of public 2 84. ORI W Sp DI ?

(A)  Commercial Bank A =R ¥

(B)  Central Bank B aE ¥

©  Both (A) and (B) € (AT @B)

D)  None of the above O SWFE ¥ Y =H
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85. Which is the primary function of Commercial 85. 2l 9
Bank ? 3 - €
: | n  IC
(A)  Accepting deposits
. 707 oAl
(B)  Advancing loans (B)
(C)  Credit creation © 9
(D) Al of the above D) I & & o o
86.  Deposits accepted by the Commercial ~ 86. S9N iﬁ,ﬁ g ‘E":”[
Banks : g ST -4 ¥
(A)  Current deposits (A) I T
(B)  Saving deposits )  w=d I
©  Time deposits € s S
(©) Al of the above O S w
87. What types of loan is advanced by 87 AqRE §6 fr=fefaa & 9 9 waR
Commercial Banks ? FHIAWE ?
(A)  Cash credit A} T A
(B)  Overdraft B) STy
(C)  Loan and advance €y T T I
(O) Al of the above Oy  SugE g
88.  Which is the Agency function of Banks ? 88. b B oEl HE wT T 7
(A) Advancing loans (A) FO[ 3
(B) Accepting deposits (B) STl &R BT
(C)  Actas trustee € TE W B &
(D)  Locker facilities ©) @ gfawr 3
89.  Whatis Central Bank of India ? 89. g I ol gPEr Ty ¥ 2
(A)  Commercial Bank A IO §%
(B)  Central Bank B FIEI I
(C)  Private Bank C o ¥
(D)  None of these 0 T § 9 a8
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90.

91.

92.

93.

9.

Monetary Policy is related with :
(A) Public expenditure

(B) Taxes

(C)  Public debt

(D)  Open market operation

Which of the following issue paper currency
in the country ?

(A} Commercial Bank

(B)  Central Bank

(©  World Bank

()  Industrial Bank

Banking sector reforms in India began in :
(A) 1969

B 1981
© 1994
O 201

Who is the custodian of Indian Banking
System ?

() Reserve Bank of India

(B)  State Bank of India

(C)  Unit Trust of India

O)  Life Insurance Corporation of India

14 big Scheduled Commercial Banks in
India were nationalised in :

(A) 1949
B) 1955
© 1083
© 2000
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95.

9.

97.

98.

99.

100.

NABARD was established in - » 19359
(A} 1935 ®) 10827
B) 1982 _
O 1 /g 19917
0) 1999 o 1999% .
The chairperson of NABARD is - g6. e at{E?-T&T e
(A Finance Minister A :2;31 3 R T
(B)  Deputy Govemor of Reserve Bank (B)
(€} Govemor of Reserve Bank (C) fod 3% % R
(©)  None of these ) ¥ 8 R T
The present name of Induétrial investment  97. A fafearT & W T
Bank of India is : e
A 18 N B
B) IRCT @ ST,
©  ReT © oo
0  IBIL O O .ImE.S.oTR T
The year of the foundation of Unit Tustof ~ 98. ARG gfFe §& I TG g ad
India is : 87
(A) 194 T 1984
(B) 1971 B) 1971
€ 1980 € 1980
© 199 O 1998
What percentage of net profit has to be 9. St Y W g @ @ Ree wfver
transferred in statutory reserve to a e o9 ¥ ewraRg BT S
bank ? g7 '
B 5% ® 5%
B)  10% B  10%
©  15% ©  15%
©  25% O 25%
The World Bank started its work in - 100. T §% 3 awn a1 ey R
(A} 1945 A 19453
B) 1946 B) 1946
€ 1956 € 1956
D) 1960 O 1907
UG(2) MFS (Sub/Gen.)/12000 (22)
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10.

11.

Four alternative answers are mentioned
for each question as- A, B, C & Dinthe
booklet. The candidate has to choose
the most correct / appropriate answer
and mark the same in the OMR Answer-
Sheet as per the direction :

Example :
Question :
Q1 ® ® © ©
Q2 @ @ ©
w3® @ © O

lllegible answers with cutting and over-
writing or half filled circle will be
cancelled.

In case the candidate does not fill the
appropriate circle in the OMR Answer-
Sheet and leave blank 'Zero' mark will
be given.

The candidate has to mark answers on
the OMR Answer-Sheet with black of
blue ball point pen only carefully as per
directions.

There will be no negative marking.

Examinee should handover the OMR
Answer-Sheet to the invigilator before
leaving the examination hall. Candidates
can carry used Question Booklet with
themselves.

Rough work, if any. should be done on
the blank page provided for the purpose
at the end of booklet.

Write your Roll Number and other
required details in the space provided on
the title page of the booklet and on the
OMR Answer-Sheet with bali point pen.

Do not use lead pencil.

To bring and use of log-book, calculator,
pager & cellular phone in examination

hall is prohibited.
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